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[TTC++[I1T]

/o
*@autho stardust
*@time 2013-10-10
*@aram [TAESIITITITT
*/

#include <iostream>

using namespace std;

//[IIIITIT) 16 M
int datalLen = 16; / /I
int encLen = 4; / /11111

int encTable[ 4] = {1,0,1,0}; //[0
int data[16] = {1,0,0,1,0,0,0,1,1,1,1,1,0,0,0,0}; //
int ciphertext[16]; //[0J

// I

void encode(int arr[])

{
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for(int i=0; i<enclLen; i++)

{

arr[i] = arr[i] ~ encTable[i];

/ /IR0
void ECB(int arr[])

{

//III

int a[ 4][4];

int dataCount = 0; //[IL
for(int k=0; k<4; k++)

{
for(int t=0; t<4; t++)
{
a[k][t] = data[ dataCount];
dataCount++;
}
}

dataCount = 0; //[II110J

for(int i=0; i<datalen; i=i+enclLen)

{
int r = i/enclLen; //[]
int 1 = 0;//0
int encQuel 4]; //[IL
for(int j=0; j<encLen; j++)
{
encQue[j] = alr][1];
1++;
}
encode( encQue); //OI0
// I
for(int p=0; p<encLen; p++)
{
ciphertext[ dataCount]

dataCount++;

}
cout<<"ECB[ITIITIT]' <<endl;

encQue[ pl;

for(int t1=0; tl<datalen; t1++) //[II[]



if(tl! =0 && t1%4==0)
cout<<endl;
cout<<ciphertext[ t1] <<" ";
}
cout<<endl;

(o011 i S R i

//CBC
//IIIIITA O
void CCB(int arr[])
{
//II
int a[41[4];
int dataCount = 0; //[IIL
for(int k=0; k<4; k++)

{
for(int t=0; t<4; t++)
{
a[kl[ t] = data[ dataCount];
dataCount++;
}
}

dataCount = 0; //[IIIIT]

int init[4] = {1,1,0,0}; //[III10

//III
for(int i=0; i<datalen; i=i+enclLen)
{

int r = i/enclLen; //[]

int 1 = 0;//0

int encQuel 4]; //[10

// I

for(int k=0; k<enclLen; k++)

{

alrl[kl = alrl[k] ~ init[K];
}
//[Key[IIIIT]

for(int j=0; j<encLen; j++)

{



encQuel j1 = alrl[jl;
}
encode( encQue); //[OI0
//IIIID
for(int p=0; p<enclLen; p++)
{
ciphertext[ dataCount] = encQue[pl;
dataCount++;
}
//UII1
for(int t=0; t<enclLen; t++)

{

init[ t] = encQue[ t];

cout<<"CCB[IIIITIT]' <<endl;
for(int t1=0; tl<datalLen; t1++) //[II1J

{
if(tl! =0 && t1%4==0)
cout<<endl;
cout<<ciphertext[ t1l]<<" ";
}
cout<<endl;
COUT R e m o "<<endl;
}
//CTR
// AT

void CTR(int arr[])

{

//I10
int a[4][4];

int dataCount = 0; //[IIJ

for(int k=0; k<4; k++)

{

for(int t=0; t<4; t++)
{
a[k][t] = data[ dataCount];

dataCount++;



}
dataCount = 0; //[III1[J

int init[4][4] = {{1,0,0,0},{0,0,0,1},{0,0,1,0},{06,1,0,0}}; //[IO
int 1 = 0; //001110
//II
for(int i=0; i<datalLen; i=i+encLen)
{
int r = i/encLen; //00

int encQuel 4]; //OI0

// I
for(int t=0; t<enclLen; t++)
{
encQue[ t] = init[r][t];
}
encode( encQue); //[IIkey[T]
// I
for(int k=0; k<enclLen; k++)
{
encQue[ k] = encQue[k] ~ a[l11[k];
}
1++;
// IO
for(int p=0; p<enclLen; p++)
{
ciphertext[ dataCount] = encQue[p];
dataCount++;
}

cout<<" CTR[IIITIIII <<endl;
for(int t1=0; tl<datalLen; t1++) //[I11]

{
if(tl! =0 && t1%4==0)
cout<<endl;
cout<<ciphertext[ t1l]<<" ";
}

cout<<endl;



COUtR< - m o "<<endl;

//CFB
// IO
void CFB(int arr[])
{
/D Oe * 8 0
int a[8][2];
int dataCount = 0; //[III]
for(int k=0; k<8; k++)
{
for(int t=0; t<2; t++)
{
a[kl[ t] = data[ dataCount];

dataCount++;

}

dataCount = 0; //[IIII10

int lv[ 4] {1,0,1,1}; //0000110
int encQuel 2]; //KOIT]

int k[4]; //K

for(int i=0; i<2 * encLen; i++) //[III1I]

{
//IK
for(int vk=0; vk<encLen; vk++)
{
K[ vk] = 1v[ vk];
}
encode(k);
for(int k2=0; k2<2; k2++)
{
encQue[ k2] = k[ k2];
}
/ /KT
for(int j=0; j<2; j++)
{

ciphertext[ dataCount] = a[ dataCount/2][j] ”~ encQue[jl;

dataCount++;



//\WIIl
lv[0] = lv[2];

1v[1] = 1v[3];
1v[ 2] = ciphertext[ dataCount-2];
1v[ 3] = ciphertext[ dataCount-1];

cout<<"CFB[IIIIII]' <<endl;
for(int t1=0; tl<datalLen; t1++) //[III]
{
if(tl! =0 && tl%4==0)
cout<<endl;
cout<<ciphertext[ t1] <<" *";
}
cout<<endl;

COUT< mmm e e e e oo "<<endl;

//0FB
// TR
void OFB(int arr[])
{
/D Or * 8 0
int a[81[2];
int dataCount = 0; //[II1
for(int k=0; k<8; k++)
{
for(int t=0; t<2; t++)
{
a[k][t] = data[ dataCount];

dataCount++;

}
dataCount

6; //00II1n
{1,0,1,1}; //0IIIII10
int encQuel 2]; //KIIT]

int k[4]; //K

int lv[ 4]

for(int i=0; i<2 * enclen; i++) //[IIII0
{
//IK



for(int vk=0; vk<encLen; vk++)

{
k[ vk] = lv[ vk];
}
encode(Kk);
for(int k2=0; k2<2; k2++)
{
encQue[ k2] = k[k2];
}
/ /KT
for(int j=0; j<2; j++)
{
ciphertext[ dataCount] = a[ dataCount/2][j] ~ encQue[jl;
dataCount++;
}
/ /WD
v[0] = lv[2];
1v[1] = 1v[3];
lv[2] = encQue[0];
1v[ 3] = encQue[l];

cout<<" CFB[IIITITI' <<endl;
for(int t1=0; tl<datalLen; t1++) //[I11]
{
if(tll =0 && t1%4==0)
cout<<endl;
cout<<ciphertext[ tl]<<" ";
¥
cout<<endl;

COUT R oo o "<<endl;

void printData()

{

cout<<"[TTTAES[IIIIIIIIIIL <<endl;

(o] T R e T "<<endl;
cout<<"[III]'<<endl;

for(int t1=0; tl<datalLen; t1++) //[10]

{



if(tl! =0 && t1%4==0)
cout<<endl;

cout<<data[l t1]<<" ";

}
cout<<endl;
o]0 1 i o<

}

int main()

{
printData();
ECB(data);
CCB(data);
CTR(data);
CFB(data);
OFB( data);
return 0;

}
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